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SECTION—I : MATHEMATICS

1. The HCF of a?b3c and ab?c, where a, b and ¢ are prime numbers, is

@, b o805 ¢ S99 (S Sopen wand a’b e 8o ab®c Sopw NP

(1) a?b3c? (2) a?b?c? (3) ab’c 4) a’b3c

2. If x2 + y? = 6xy, then 2log(x +y) =
x% + y2 = By wosdS 2log(x + y) =
(1) log x +log y+ 3log2 (2) logx+logy+2log3

(3) logx+logy+log?2 4y logx+logy+6log2

3. The relation of a+ (b+c¢)=(a+b)+c is

a+(b+c)=(a+b)+cenond 3oh ImIEH D JoWEr HrIed?

(1) commutative law (2) associative law
POV P ST e

(3} distributive law (4) None
DGR TCH0 20 T

4. 0-1010010001......... 000.....11s

0-1010010001,........ 000..... 1 &80

(1) a rational (2) an irrational (3) an integer (4) None
eEtrian Sopg el So g Sows 08 s
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2015-116-S2/11-A 1 [ P.T.O.



www.eenadupratibha.net

5. If n is a natural number, then 9" -4?" s always divisible by

n o Sime Sops wond 921 — 42" s 3o T36® B3 prActLES?

(1) 5 (2) 15 (3) 25 (4) Nome (= w2)
6. If Ac B and Bc C, then An(Buw(C)=

AC B8dn Bec Ceca® An(Bu() =

(1) A (2) B (3 C (4) o
T.If A={x/xe N, 2<x<7}, then A=

A={x[/xe N, 2<x<T7}eond A=

(1) {13 4} # (234 5 6] (3 {23456 7K \ ({34 ¢
8. If A = {Prime numbers less than 20}, B = (Whole numbers less than 10}, then(A- = - S-4£=

A =120 55 8535 o @BF% Sogmen), B={10 =5 85,3 e Yroves'ew] waask (A-B)n(E2- 2 =
(1) ¢ (2) wu B) A (4) B

9. If two zercs of the polynomial x3 +x? -9x -9 are -3 and 3, then its third z=— =

x% + %% - 9x - 9 w0 wiTUHAE -3 Wi 3 eRil Tek WNEE & s HarE WIS
(1) -1 (2) 1 3) -9 (4) 9
10. b -p) 1Y
2a da
< >
x’ { 5’\ X
fld=ax2 + bx + ¢

vy

The above figure shows the graph of f(x) = ax? + bx + ¢. Which of the following is cor—ses3

D Ses fx) = ae” + bx + ¢ e [Flocunasts SPIels 30 T3 Do sugn?

(1) a<0,b>0and ¢>0 (2) a<0,b<0Dandc>0
a<0 b>0%8G0ce>0 a<0 b<0&Cwe>0

(3} a<0, b<0and c<0 (4) a>0, b>0and ¢<0
a<0 b<0®8c< O a>0, b>0%0ac<0

SPACE FOR ROUGH WORK / %5528 Serassoundd $oiw
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11. If one root of the polynomial f(x) = 5x2 +13x + k is reciprocal of the other, then the value
of k is

flx)= Sx? +13% + k oo ewnd ool ¥ HoroBe 9ot Barodd D6%oe wond k Deod

@) o (2) S (3) 1/6 (@) 6

12. The value of x which satisfies the equation 2x -4 - x) = 5—- x is

2x = (4 - X) = 5— x BECeTY HINVHOR x Do

(1) 45 2 3 (3) 225 (4) 05

. The value of k for which the system of equatmns 3x+y=1land (2k-1)x+(k-1jy=2k +1
1s inconsistent, is

3x+y=1%0010 (2k ~ 1)x + (k- 1)y = 2k + | e =3 3Dk Blostenow wlersSiod k =

(1) 1 ) o (B) -1 (4) 2

14. If a pair of linear equations in two variables is consistent, then the lines represented by the
two equations are

Dol BWETHo0E’) wb SHok sRusteres e, ¢l 3od & BAD wroTPax?

(1) intersecting (2) parallel
podomoSaoe SEISHTTO

(3) intersecting or coincident (4) always coincident
podoneihicte o Dislenase Sdrsonsd

15. If twice the son’s age in years is added to the father’s age, the sum is 70. But if twice the
father’s age is added to the son’s age, the sum is 95. Then the age of the son is

To&iDesy HUPGHA BOHRK B Bold Saiy Seotm 70 iR, oy Boid DN wil MEred
ROy MooBm 95 i, wuald NUCUG SaNn?

(1) 13 @) 20 (3) 15 (4) 14

SPACE FOR ROUGH WORK / Q%008 Sercooclimdy Hesiss
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16. Solve : 99x + 101y =499, 101x + 99y = 501
99x + 101y = 499 %:8cin 101x + 9%y = 501 e BIEGER0TR FHernw.

(1) (-3 -2) (2) (8 9) (37 (L 4) (4] (3 2)
17. JE +2+E =
b a
b b b ' |
(1) E‘*‘ . (2) i + > (3 §+E (4) None (Qé s':‘:u)

18. The product of the roots of J3x2% -6x+9J3 =0 is
J3x?2 - 6x + 93 = 0 s> 3DoEses Bl BarTe s

(1) 3 20 9 (3) -3 (4) None (%& =)

19. If the roots of a quadratic equation are p /g and g/ p, then the equation is
P /g 50000 g/ p SRosD Sarowo e B SDosbessy $od a6 D89

(1) gqx2-(g% + p?)x-pg=0 (2 pgx? - (p? +q%)x+ pg=0

(3) px?-(p?+Yx+p=0 # p2x? -(p? -q°)x-pg=0

20. The discriminant of Vx2 +x+1 =2'is

J;cz+x+1=ﬂu:§::}g:bh;ﬁeﬁmcmﬁb oded

(1) 13 (2) -3 (3) 11 [4) None (28 z&o)

21.If p,q, r, s, t, uand v are in AP, then g+r+s+t+u=

D, g TSt USioin v ettt o vl Be) A gr+stttu=

(1) -gtp-+ul - (2) %[U*p] (3) gp (4) None (08 m)

SPACE FOR ROUGH WORK / D%0u03 Strosoundsd geonw

2015-116-S2/11-A 4



www.eenadupratibha.net

22. The sum of all natural numbers between 100 and 1000 which are multiples of 5 is
100 o0& 1000 Hs35s Ne Hive Soped® 5 G, Hrdanoe Daso

(1) 98450 (2) 99450 (3] 16450 (4) 94450

23. If a, b, c are in AP and GP both, then which of the following is correct?
@, b, ¢ &EI3D wcYEEE® o0 HEEESEST 5o, vond @od T3S DB IBEN?

(1) a=b=#=c (2) a+b=c¢c B a=b=c¢c (4) a#b=c

24. The sum of all odd integers between 2 and 100 those are divisible by 3 1s
2 Sood 100 Bo5E° Ko B2 $rg Soped® 33 grliotSnts Sope Dt

(1) 767 (2) 467 (3) 567 (4) 867

25. The distance between the points (acosb + bsin8, 0) and (0, asinb - bcosHB) is

(@acos® + bsin®, 0) %elae (0, asinb — beosh) uito DoloPHu W& Srve

(1) a? +b? (2) a+b (3) Va2 - b2 {4) Va2 + b2

26. A triangle formed by the points A(a, 0), B{-a, 0) and C(0, av3) is
Ala, 0), B(—a, 0) %83 C(0, av3) oo Relaion S5as [Ofonsen oy

(1) a right-angled triangle (2} an isosceles triangle
woniit (Ggbmk SHOOETY (gt

(3) an equilateral triangle (4) a scalene triangle
ST ([SEbesan DTV (Bgon

27. The area of the quadrilateral whose vertices taken in order are (-4, —-2),(-3, - 5), (-3, =-2)

and (2, 3) is sq. units.

2¥ HBOWEBL G, Wawes W EwEd® (-4, -2), (-3, -5), (-3, -2) WO (2, 3) @d
SRETUR, & WBetyRnee Gy, TR D, ClarRen.

(1) 56 (2) 28 (3) 84 (4! None ('.'J& W )

SPACE FOR ROUGH WORK / Q85323 Serooneds e
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28. If the points A(x, - 1), B(2, 1} and C‘H 5} are collinear, then x =

> i ~f

Alx, -1), B(2, 1) %8s C(4, S}a:smoﬁsé}w 8Hasrgd, x Jeos =

(1) 1 (2) -1 (3) O (3 2

29. The perimeter of the triangle formed by the points (-a, 0), (a, 0) and (0, a) is
(- a, 0), (a, 0)0c» (0, a) wio Detoew KHGES [GFoaton Gy, Wweptiod

(1} 2a(1++2) 2) a(2++2) (3) 2a(a+~2) ) None (55 )

30. If a line makes 60° with positive x-axis, then its slope is

¥ Op x-ofsnd 60° Simsa Sointnnd, wows o Op Y, e

(¥ 1/V3 (2)° 1 3) V3 (4) -3

31. In an isosceles triangle ABC with AC = BC if AB? =2AC?, then ZC=
ABC w50 2.8 S5obumiv @thasnd’ AC = BC &tois AB? = 2AC%, euxd LC=

f

(1) 30° @) 90° 3} 4s° (4) 60°

32. In a right-angled triangle ABC rightangled at B, if P and Q are points on the sides
AB and BC respectively, then

AABC vonS’es @toncd® £ZB=90°, P %dcix Q il Stsm AB Solu BC ¢hutiwey o Deloygd,
Bod TUIE® DB BBs?

(1) AQ? +CP? =2(AC? + PQ?) ) 2(AQ? +CP?) = AC? + PQ?

(3) 2407 +cP? = AC? + PQ? (4) None (58 =)

SPACE FOR ROUGH WORK / Q82808 Serowoolnds Pl
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33. A man goes 24 m due west and then 7 m due north. How far is he from the starting point?

5 S0l 24 . BERsS Y BED bicgs 7 . a0 P AT, wonn e edbestls Petn Wwod Job
EPE08" PTNE?

(1) 31 m () (2) 25 m () (3) 26 m () (4) 17 m ()

34. A
g7 \a

D E
=%
B C
In the above figure, if ZADE = ZABC, then CE =
» Sesné® ZADE = £ABC, woxst CE =

(1) 9/2 (2) 5/2 (3 2/9 (4) 4/9

35. If AABC ~ A DEF such that AB=9'1 cm and DE =65 cm, and if the perimeter of ADEF is
25 cm, then the perimeter of AABC is

A ABC %8052 A DEF oo Dot Sumd (@gomsses. AB=91 wads. Do8aiw DE =6'5 o, [@¢es
ADEF Sixo%y, woenios 25 Be.ab. ocwd (Sgeann AABC 6y, Howpfled

(1) 37 cm (®e.2.) f2) 36 cm (Re.ds) - (3) 35 cm (®e.do.) (4) 34 cm (Ro.».)

36.
In the above figure, arca of the segment PAQ is —— sqg. units
B S0’ PAQ il 3dtosin —— B, caress
2 2 2 2
a a a a
1) — 2 2) —(n-2 3) —(n-1 4) —(n+1
H4{ﬂ+} {}4( ) fl4( ) o B

SPACE FOR ROUGH WORK / 283323 Seroaobnds Hobw
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37. A

B
R ol
In the above figure, if AP = PB, then which of the following is correct?
P %508® AP = PB woxd 1300 ax38® D8 sua?

(1) AQ=COQ (2) AC= AB (3) AC= BC 4 AB= BC

38. The length of the tangent drawn from a point 8 cm away from the centre of a circle of radius
6 cm is

6 wo.0. THIGRR O wE $YBIoEH0 Boed 8 o.M, BEPUSE” Ko nl Dotivy Bood WTrod Adbndld B0y

PED
(1) 247 cm (2) +7 cm (3) 10 cm (4) S cm
2T we0.. VT .. 10 350.20. 5 0.0
39. < Q P R J
T

In the above figure, two egual circles touch each other at 7. If QP =45 cm, then QR =
D Beasa8® Brseds oo S5 WESves T 58 HBowesiyd. QP = 45 el ©uxd QR =

(1) 9 cm (2) 18 cm (3) 15 cm (4) 135 cm
0 0., 18 e.20. 15 o, 13-5 o..

40. The parallelogram circumscribing a circle i1s a

25 SEroBE BotnmEs’ GBhe wobfPotndd «b o8

(1)  trapezium (2) square (3) rhombus (4) rectangle
Buose SBSESe SSBOT I 85 WBobSH

SPACE FOR ROUGH WORK / 2®:$08 Sercoootendd ok
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41. The curved surface area of a right circular cone of radius 11:3 cm is 355 cm?2. What is its

slant height? (Take n = 11'?357] :

11:3 o.o. SRS o oF @ HTT Togop) Dok, dTemes 355 B.0.0. wond oW Do 8

Do5? (1 = 222 & SusTonw)

(1) 8 cm (»e.) (2) 9 cm (»ed.)  (3) 10 cm (o) (4) 11 cm (Do)

42. Three solid spheres of gold whose radii are 1 cm, 6 cm and 8 cm respectively are melted into
a single sphere. Then the radius of the sphere is

1 20.0., 6 20.20. $o00K> 8 We.do. TPRPEs o Wy woimts koot S0AcD &Y 55 RS0 Boirss
Saoends, e i DANSEeREE

(1) 7 em (2) 8 em (3) 9 cm (4) 10 cm
7 0.0, 8 se.50. 9 o0, 10 ..

43. A hemisphere of outer and inner radii 10 cm and 6 cm respectively is moulded as a cylinder
of diameter 14 cm. Then the height of the cylinder = cm.

&8 S'oo oFR'S eriey S0y wodt TEres WEeET 10 e.ib. Bsdckn 6 o.. 83D ¥oRed 14 e..
TBOT Ko HSem BI0R, & SN0 By = 200,60,

(1) 14 (2) 1-33 (3) 23 (4) None (D& =)

44. If x = asin® and y= bcosH, then b?x? +a“y? =

x = asin® %0a% y = bcosh woss b2x? +a?y? =

o1 (2) a? +b* (3) a? -b? (4) a?b?

45. . + : =

l1-sin8 1+sin®

(1) 2tan?8 (2) 2sec®9 (3) 2cosec?8 (4) 2cot?8

46. cotB + tanf =

(1) secBcosecH (2) sec? 0 (3) cosBsinB (4) None ('.'J& m)

SPACE FOR ROUGH WORK / 28803 Sercasobends Pone
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47. The value of cos1°cos2°cos 3°cos4®.........cos180° is
cos 1°cos2°cos 3°cos4°......... cos 180° Sevs i
(1) 1 2) O 3) -1 (4) 1/2

48. sect A - sec? A=

(1) tan“A-tan*A (2y tan*A-tan?A (3) tan*A+tan®’A (4) None (98 )

49, tan48°tan 16° tan42°tan 74° =

(1) 1/43 2) V3 - (3) O " 1

50. In a AABC, ﬂin[ B+ C) =

Ogoesas ABC &° sin(B+C)=

() cns[gj (2) sin[%) (3) cus(B-l_c]

(4) None (28 %)

51. If a 1'5 m tall girl stands at a distance of 3 m from a lamp post and casts a shadow of length
4-5 m on the ground, then the height of the lamp post is
1-5 Do, PEP Ko 05 28 B8P Fogun $0d 3 M. mﬁmm&@‘:aawwaﬁbnM45 Do, @S
e QB Sohn D%, FED

(1) 1-5m (2) 25 m (3) 2 m (4) 28 m
1-5 0. 2:5 . 2 . 2-8 .

SPACE FOR ROUGH WORK / 2838503 Seraoonads Hote
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52. From the letters of the word "MOBILE’, a letter is selected. The probability that the letter is a
vowel is

‘MOBILE’ 550 55350060 8.5 eoftioocso oime)iSsnm® JuaSt, € eian e ey e fio Pogrss

(1) 1/3 (2) 3/7 | (3) 1/6 (4) 1/2

53. Which of the following cannot be the probability of an event?
e Bod THIE .Y 0w DoY), Bogrind TR0

(1) 2/3 (2) 15% 3y -1'5 [41] 0-7

54. A month is selected at random in a year. The probability that it is March or October is

BONBYTRNE'D 2.5 Do APEH)NIHT RTINS & Do W10 T wSwd G Ho Sogrnd

(H 1/12 (2) 1/6 (3) 3/4 (4) None (98 =)

55. A number x is chosen at random from the numbers -3, -2, -1, 0, 1, 2, 3. The probability
that |x| <2 is

-3, =2, =1, 0, 1, 2, 3 & Sop® Wod X 8 fopgw dP)Se S50, e Sops x| < 2 e o
SoESS

(1) 5/7 (2) 2/7 (3) 37 (4) 1/7

56. The median of the marks scored by 50 students in a 50 marks’ test is

50 B008 ATBeH 50 BREne $EEE° BUP BPEye Bo8 HISE® FHmASD. wowd T BogEHw

Marks -1-10 11-20 21-30 31-40 41-50
(Brooye) |
No. of students 3 o & S .
(Semgige dey) '
& 2575 (2) 2675 (3) 2775 (4) None (W& &)

SPACE FOR ROUGH WORK / Q%0803 Seroscoueds S
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57. The mean of n observations is X. If the first term is increased by 1, second by 2, third by 3
and so on, then the new mean is

n $SSve B X. Doosed $XSanss 1 D5, 25 BES0%e 2 36, 39 95mete 3 55 e o Lo Huyy 5%
HTRE

(1) X+n 2) X+ st X4+t 4) R+2L

2

58. The median of the scores 6, 49, 14, 46, 16, 42, 26, 32, 28 is
6, 49, 14, 46, 16, 42, 26, 32, 28 STty Eo%, WEHgEHN

(1) 30 (2) 32 (3) 31 (4) None (28 =)

59, The observations of some data are 55—, 4 %, % and g , when x > 0. If the median of the data is
8, then the value of x is

.‘g, X, .;'5 %‘.ﬁm % (x> 0) wo Sopesio B, HSyssn 8 soad x Desd
(1) 24 2) 8/3 (3) 3/8 (4) 8
60. Mode 1s

erTREEN SR0N0

(1) least frequent value (2) middle most value
B My PR Te e Ve oy Dews

(3) most frequent value (4) None
DS LY PHPOEHBe WK Ve 98

SPACE FOR ROUGH WORK / Q@808 Scwrowotads ol
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SECTION—II : PHYSICS

61. The SI unit of specific heat is
SLRe By, SI EEoemse

(M J/K (2) J/kg
6 [ 300 & /3.1e.

(3) J-kg/K (4) J/kg-K ‘
PE-3.v. [ 305 | &5 [/ 3,355

62. The change of phase from liquid to gas that occurs at the surface of a liquid is called
ol (B9 slU0owe B8, (B TURSRIT BSNINy Dol (B3

(1) melting (2) freezing (3) condensation (4) evaporation
ENgSSo Ehelar Fofstes Frapgste

63. The final temperature of a mixture of 100 g of water at 30 °C temperature and 100 g of water
at 60 °C temperature is

30°C & 100 gr.e veld 2o8an 60°C %5 100 gr. Sed Sofitse SHSp, & oo Doy, Bob A

. 45°C (2) 70°C (3) 90 °C (4) 130 °C

64. The distance between the pole and the centre of curvature of a concave mirror is called

RVFTE S Qoo S DoBoPH WO WETE SoEd Bofs o STV, SSseati?

(1) focal length (2) object distance
a‘sgﬂgaﬁﬁu s SO0

(3) image distance (4) radius of curvature
Ol EFbe SET Te

65. If i and r be the angle of incidence and angle of reflection respectively, then which one of the
following conditions is correct when a light ray is reflected by a plane surface?

"7 Bo0cn oo WHORT BEREte B0k MoEs St woad Todftme wf MisBoch SOEESe Jeludis
B8 T36° DO KAWL

i), i=r (2) 1.7 (3] t<? (4) None of the above
Tew TS

SPACE FOR ROUGH WORK / Q%323 Serowobindd gose
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66. The scientist who proposed the idea that the light ray always travels the path of least time is
TS BED BHocHo 38 WAKeE’ HAreiied el BOFCCDN TENE
(1) Archimedes (2) Snell (3) Fermat (4) Raman
&30 20l ) RS ook
67. Which among the following is a dimensionless physical quantity?

3o8 T%3E° o TY FI5 o3

(¥ Power of lens (2) Radius of curvature
S8 0% 0 SET® Trge

(3) Wavelength (4) Refractive index
LYK BY 0 SEESS e

68. If n is the refractive index of a medium and v be the velocity of light in that medium, then
which one of the following statements is correct?

L3 CirRSe Aok, SEED Morso n Solckn e aiFsies® Todilie viuene Eel I DO $0GIaY

(1) If n is high, v is low, (2) If n is high, v is also high.
n %9 WOND U O30, T 5% BOND v X0 =505

(3) n=v for all media. '~ (4) n and v are independent of each other.
Soh WITER N =V 71 00N U STPU W woldlosy wlnEy

69. If n; and n, be the refractive indices of denser and rarer media respectively and C is the
critical angle, then
ny SOCEN Ny ed HESH FoEHBY Hodain DIEATITE HEEHD Mesres Bo0din C $odl Seo vwand
, n . n o , no
(1) sinC=-1L (2] sinC-= 2 (3) sinC= [— (4) sinC= J—g-
iy Ty \’”2 ™

70. The refractive index of glass is 3 /2. If the speed of light in vacuum 1s 3 x 10° m/s, then the
speed of light in glass is

e oo, HEESS oeale 3/2. 27906° Teddiic 3x 10% 2/ soxd west oo Ik
(1) 2x10% m/s () 3x10% m/s (3)  10% m/s (4) 1-5x10% m/s
2x10% o/ 3x10% &/% 108 &/ 1-5x 108 2u/%
71. The number of focal points, that every lens has, is
B3O BTl &l Thok fetiope Hoky
(1) 4 (2) 3 (3) 2 (4) 1

SPACE FOR ROUGH WORK / Q%3R3 Serowoneds el
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72. A virtual, erected image is formed when an object is placed on the principal axis of a convex
lens

L8 BT Boopred Ko Gk, BTE B D o B SolHEs NI &y Dog (ODowo SthEsBo8?

(¥) beyond the centre of curvature (2) at the centre of curvature
w(ECF éa{@iﬂ S ity 'f:n;ga e

(3) between the centre of curvature (4) between focal point and optic centre
and focal point
SEer SoEwd Solain TP Hog TP, 55 Sod Sogs

73. An image is formed at a distance of 60 cm from the centre of a convex lens when the object
distance is 30 cm. The focal length of the lens is

30 To.b. welcin 60 ek By SrUe woldin HONeE Hrte winme SONGH: ¥ P e G

TRcBte
(1) 90 cm . (2) 20 cm (3) 2 cm ) 005 em
90 wo.o0. 20 o0, 2 .. 0:05 o0,

74. Read the following two statements and pick the correct option :
3o Tos I WOL PO WETER) Sowsod

" (a) The virtual image can be captured on a screen.
LRy PODOTY, DU FoEHI.

(b) The real image can be captured on a screen.
ot RODowry ol Mﬁq}.

(¥ Only (a) is true (2) Only (b) 1s true
(a) SovEme Dt - (b) Sr@ne NS

(3) Both (a) and (b) are true (4) Both (a) and (b) are false
(a), (b) Te&r Ned (a), (b) Dok BEWS

}
75. The angle of vision for a healthy human being is about

esEhaSooR Symbiere MsELT

(1) 10° (2) 30° () 60° (4) 90°

76. To correct oné’s hynermetropia defect, the type of lens to be used is
&% SHnS Dy $5fe B TSl Buke

(1) bicencave (€) Dbiconvex (3) plano-concave (4) plano-convex
Otry &0l PRODY - peSSL-IORR- ST et

SPACE FOR ROUGH WORK / Q%03 drcoootinds $ebe
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77. Which one among the following colours has the minimum angle of deviation?
308 T3S® D5ew Sieo Sz &y Sl |
(¥ Red (2) Blue (3) Green (4) Violet
ST el NSO SOl Sy Tolbd & SOl
78. The formation of rainbow in the sky is due to the dispersion of sunlight by

23 308 e oo IHto PO wITHOS' FOEIER DHEtes?

(A) clouds (2} water droplets
RoPstacen o3 Doliogen

(3) air molecules (4) water in the sea
™D BoSTradey SR0osed® D

_-79. Which one among the following quantities has the unit dioptre?

808 3E° BDF Hourpb wY (ShIrensan?

()} Accommodation of lens (2) Foeal length of lens
SeSe STowe SLS TrEretbo

(3) Power of lens (4) Refractive index
5es¥ S0y 50 S oo S Lot

80. The product of potential difference and current gives

POY0E St oG ewo G cwded?

(1) resistance [2) electric power
DE%se | DES JsoY 0

(3) electromotive force (4) specific resistance
DEOTHOY Lo 223 Ao

81. Read the following two statements and pick the correct answer :
@08 Toto TEgein BOD BOGLS KIITED JowsSed
(a) Semiconductors obey the Ohm’s law.
@ TIPS Ao DOWNIRy o,
(b) Metallic conductors obey the Ohm’s law.
% TPIEn L0 JoWRId, Jeddo.

(1) Only (a) is true (2) Only (b) is true
(a) SFEde Jenw (b) LB Jesw

(37 Both (2) and (b) are true (4) Both (a) and (b) are false
(a),. (b) Setr Je® (@), (b) Dot Bnd

SPACE FOR ROUGH WORK / 2853828 Strasotedy OB
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82. Which among the following materials have their resistivity of the order 10'* to 10'® Q-m?
8o TlE* B3 DAY e 10" wed 10'® Om S50 dcwran?

) Conductors (2) Semiconductors (3) Insulators (4) Al
TSR COTRTR 20530 Lo

83. Three resistors each of value 3Q are connected in parallel combination. The eguivalent
resistance 1s

B0 1.8 30 Jeod Ko Arer Brdod BEIBY Sopiie ST, T $0B 6o

(1) 27Q (2) 9 Q 3) 30 # 1 Q

84. An electric bulb of 360 Q resistance is connected to a 6 V battery. The power consumption is
360 Q %0 Ko b weyss 6 V wresdd 50570, ob IGrNeD d b
(1) 01 W (2) 3 W B) 2 W (4) 20 W

85. Which one among the following statements is true?

300 3" SOGL T VO?

(1) Resistance of a conductor is independent of its length.
TS G, A TN PEPD STTHES.

(2) Resistance of a conductor is directly proportional to its length.
FERE 0 0 AP woStarmnartes® dowocd.

(3) Resistance of a conductor is inversely proportional to its length,
T %0 0 g ENFRFDes® sowssl.

(4) Resistance of a conductor is independent of its temperature.
TEIS P TN SWBR CERRESD.

86. QOersted is the unit of

ol esosd TR8 Biree

(1) magnetic field strength (2) magnetic flux density
iy oB SREnee BUDI,0D WP PoS

(3) magnetic pole strength (4) magnetic flux
BODTeH GHesde GOm0 wPTre

SPACE FOR ROUGH WORK / 28:%238 Surosostwds FTmA
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87. The magnetic force acting on a straight wire of lengtfl | carrying a current { which is placed
perpendicular to the uniform magnetic field B is

| &9 SRS On Moew 1 DEod BN, T3 B w508 wdhrob FBcd’ vowom dodNdis TWp BINAiD

Pl e

(1) B/il (2) i/Bl (3 i°B (4) iIB

88. The law which states that ‘an induced e.m.f. will appear in such a direction that i{ opposes
the change in its flux’ is

D Daioos ‘Briacgd’ efaniie LRt B:008e8 8%S° (e usd e doicd’ el BeoHen?

(¥ Faraday’'s law (2) Kirchhoff’s loop law
PG asIBoe e o I

(3) Ohm’s law ' (4) Lenz’s law
L5y Do Bef Jaioo

89. 1 tesla = ——

1 3% = —

(1) 1 weber (25 1 weber/metre ?
1 3ed I %05 /502

(3) 1 watt/metre? (4) 1 coulomb
1 eay/Do? 1 srored

90. In which among the following, the principle of electromagnetic induction is not involved?

208 TR3E’ DI oB (DUey FABBIY, GIHAPAN LorGer WOQ

(¥ In security check, where people are made to walk through a large upright coil of wire
wEmBd D8R e Do Wl g mped® e g s Hoom Bee weke

(2) Working of tape recorder
5% Bgb 182 Jowwess

(3) Working of an electric bulb
:‘;i&sﬁg e 4] 305.‘0%:56

(4) Working of ATM cards
ATM o0 89 Dokoed’

SPACE FOR ROUGH WORK / 280908 Serooootedd Heix
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SECTION—III : CHEMISTRY

9]1. Oxidation reaction involves

E%Stin ;5:.5555 e bl )

(Y] addition of H, (2) removal of O, (3) removal of H, (4) None
Hy%o Sosan O, % SNdamse Hymo Sbdanse PR o

92. The gaseous mixture contains hydrogen and oxygen in the ratioc of 1 : 8 by mass respectively.
The ratio of the nurnber of molecules of hydrogen and oxygen in the above mixtore is

oo DFResd’ Hy o8y Oy :a.:.:.:ﬁb PUTHS SN 1:8 wonky, & opnonssd’ &sd Wi B0
el e oG WOONTT

(1) 1:8 (27 8:1 (3) 1:2 (4. 21

93. Match the following :

EoO0T0RD
Column—A . Column—B
(@ C+05 5CO, +Q (1) Prevent rancidity
208 Do DeSRs
(h’ N2 - g 0'2 — 2NO - Q [H] MIG}’
s &
(c) Antioxidants (1i) Endeothermic reaction
Posd esdBod, SRTE B
(d) Stainless steel (iv) Exothermic reaction
RoweeE 26 GRRTEY WO
(1) f(a) (b) (c) \d)
(1) (1) (1) (1)
(2) (a) (b) (c) (d)
(1v) (i11) (11) (1)
(3) f(a) (b) ) (d)
(iv) (1) (1) (i)
(4 (a) (b) (c) (d)

(111) (1v) (11) (1)

SPACE FOR ROUGH WORK / D%5308 Saraxctendd ok
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94. In the reaction 2PbO+C — 2Pb+ CO,
2PbO +C — 2Pb+ CO, w5&° .

(1) carbon is reduced (2) PbO is oxidized
TS JoWoESese Dolsiss PbO esd; 500 Doessiso
(3) PbO is reduced (4) PbO reduces carbon to CO,
PbO @Fco¥erc Dot PbO =sthewo CO,m SoiNtess ruosse

95. Which one of the following statements is wrong for the chemical reaction A + B — C if the
reactants and product are gaseous in state?

A+ B— C & Braios ;’Jﬁgé"' BirENsren WO SATETRw m?gﬂéﬁ S, & OO Sewolew S
Bo0 TEMN00S® Byt TESD I0?

(1) 'One litre of A combines with one litre of B to give one litre of C.
25 O, A, ¥ &, B & 5od@rrie D8, 5 . C Do,

(2) One mole of A combines with one mole of B to give one mole of C
&8 2rE A, o5 26 B & So@rie D08, wX IS € Dytioo.

(3) One gram of A combines with one gram of E to give one gram of C
25 VS A, w5 [ B & %ol Dod, o [mhak € Doy,

(4) One molecule of A combines with one meolecule of B to give one molecule of C
¥ wed A, &5 wro) B & $od@rte 308, w wry C Sk,

96. The volume of oxygen required for complete oxidation of 2 litres of methane at STP is

20 aPs vame (STP) 55 2 b, 38 o sdistne ToEid THols wdes Rousarense

1itres

(1) 4 litres (2) 12:25 litres (3) 1 litre (4) 8
4 8. 1225 9. 1 &, 8

or £

97. Which one of the following produces more number of OH ions?

s 300 T36° s dopd® OH™ wairiouss 5iasa?

(1) HCI solution (2) CH3;COOH solution
HCI Toess CH;COOH @oesdon

43) NH,OH solution (4} NaOH solution
NH,OH @oesto NaOH [grsessiw

SPACE FOR ROUGH WORK / 283303 Scromednds Bebw
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98. Which one of the following produces more number of H,O" ions?

B B0 T%dS° X o’ Ha0' evoimgse DEuesd

(1) HCI solution (2) CH3COOH solution
HCI besaan CH;COOH (@tesiw

(3) NaOH solution (4) Mg(OH), solution
NaOH @roessee Mg(OH), s

99, Which one of the following is a weak base?
308 TVE® LD P

(34 KOH (2) NaOH (3) NH,OH (# None of the above
VA TS

100. Which of the following group elements are known:as chalcogens?

S+ 308 TSE'D D I SoreTety TET s eoerto?

Al 16 (2) 6 (3) 1 (4) 17

101. The number of electrons that are present in p-orbitals of Cl™ ion is
Cl™ eaimsod® p-esSyrbos’ dod Joms Sons

(H 6 (2) 5 (3) 11 4) 12

102. The impossible set of quantum numbers for any electron of an atom is
BORPeRHED D ¥, JoEem 3ET Do om0 Soge SEarm
(1) n=2 1=1 m =0 my=+ XN n=2 1l=2, m =-1, mg=-Y2

[3} ?1=3,I=2, m;=+l, m$z+‘z& (4} H:S,.!:ID, m;ﬂﬂ, m3=—1f”z

103. Elliptical orbits are introduced by
STt Sono RO BN

(}) Bohr (2) Sommerfeld (3) Schrodinger (4) Zeemaln
5 Pobe o, &ond B0

——— — E —— — e —————— ——
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104. Which one of the following is the correct configuration of 0% ?

0% Sasy, BOGWH Jo@H g

%

M 1s2%2s22p* 2] 1s22s?2p® (3)" 1s%2s?2p? (4) 1s%2s22p°

105. Where do Na and N belong?

Na So8cixo N & vy wotses.

(1} s-block

S-75 )

(2) Na belongs to s-block and N belongs to d-block
Na s-@PS% So0ais N d-op5em

(3) p-block
p-is

(4) Na belongs to s-block and N belongs to p-block
Na s-P5H% Wolcis N p-ep5i

_ 106. The atomic numbers of actinide series elements are
eTont @ DareTre BUNre Sepww
(1) 58 to 71 (2) 90 to 103 (3) 92 to 105 (4) 60 to 73

_ 107. The order of second ionization energy values of O and N is
O SoBas No sy, Dot ecioasten 38 Bomw
(1) O>N +2) N>0O

) D= (4) IE, is less than IE,
‘ IE; 508 IE, S¥oime dotsis

108. Generally the order of electronegativity in groups

EPDE LRGSR (S FReST

(1) decreases - (2) Increases
arﬁ:a; PLraTHT L

(3) remains same (4) initially decreases and then increases
B oS B BESTB IO

109. Which one of the following is not an ionic compound?
3ol TRE® GAIFIE STED TR0
(1) NaF (3 NaCl (3) MgO (4) NHj
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110. The molecule with two bond pairs in two covalent bonds around the nucleus of the central
atom without any lone pair in the valence shell is

S@ArENow wotios’ OBy RORFELY SoEnw Wota® TSy %g;e‘is Coty wof Ju@:ﬁ HOLEL &0k, Lot ng;;s
HOLLL T B

(1) BeCl, (2] BF, (3) NHj4 (4) CH,4

111. The molecules with decreasing order of bond angles are

2ofSrioy B B0snd® vrugpes

(1) BF;, NH;, H,0, CH, (2) BeCl,, BF;, CH,, NH,4

112. Which one of the following is wrong in case of NaCl crystal?
NaCl $y3% 25g5008’ B¢ 308 36° D8 83%y:9

(1) It does not conduct electricity in aqueous state
30 2oEWe RS Jod TPEBIT BIDAS

(2) It 1s soluble in water
20MIG° B

{3) The coordination number of C1~ in NaCl crystal is 6
NaCl 358" C1™ ook, ieiel Sops 6

(# - It 1s a face-centered cubic crystal
30 Wop SoE 53X Joerdy SOA ectin

113. Which of the following is used as reducing agent in metallurgical process?

& B0 Baod® Fastedm TS

(1) Coke (2) O (3) KMnO, (4) None of the above
s'8 PR

114. The metal which do not displace hydrogen from dil. HCI is
205 HCI o0& Hokd Do Do Shmisn

(1) Zn (2r Mg (3) Cu (4) Fe

SPACE FOR ROUGH WORK / %5828 Seroaoobndd $em
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~115. Generally metallic oxides are converted into metals by

Feesesom 650 B Beo S55es B BIRSS,
(1) roasting (2) calcination (3) oxidation (4)
GSB0 AT RS esd B5rs

116. The reducing agent used to join railings of railway tracks is

08; ¢756°0 Do Bepoits Joopeth TG Sostes

(1) Al (23 CO, (3) SO, (4)

117. The bond angle (H—C—H) in C,H, is
CoH, 8 (H—C—H) w055

(1) 10%° 28’ (2] 180° (3) 104° 277 (4

118. The general formula of alcohol is
GRS Gaoy), T T
W (CpHy, .,)OH (2) (CnaHp, s )NHy  (3) (CrHg,1JCHO (4

reduction
{evbllel el

None of the above
Dew SR

120¢

{CHHETL* !)20

119. If a carbon compound has many functional grocups, then the order of preference while

naming it according to I[UPAC nomenclature is

p¥ BE B MlogNed’ Jmyd  Ela  doardnecnd, TUPAC TNt B508°  Ltobepdidypid

RO gy PRERSTE B

(1) CONH,;>CHO > NH,>—COOH (2) —COOH> CONH,>CHO > NH,

(3) —CHO >CONH,> COOH > NH; (4) COOH > CHO > NH,>—CONH,

¥20. The IUPAC name of NH; —CH, —CHOH—CH, — COOH is
NH, —CH, —CHOH—CHs — COOH &%), I[UPAC %080

(1) 1-amino-2-hydroxybutanoic acid (2) 3-hydroxy-4-aminobutenocic acid
(3) 4-amino-3-hydroxybutanoic acid (4) 1l-amino-3-hydroxybutyric acid
4-¢RR-3 ~ipidyeostsionss ek 1-0Ros - 3-3piErdieoedh oo
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